4 )

( e )

Exam Style Questions

Multiplying Terms |¥I

CorbettmoOiths

[Equipment needed: Pen, Calculator ]

\_ J

Guidance

1. Read each question carefully before you begin answering it.
2. Check your answers seem right.
3. Always show your workings
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Simplify w X 5

, _ - (1
2. Simplify 2 X 5m
....... O ..
(1)
3. Simplify x X x
oL
(1)
4.  Simplify aXcXb
...... aoc
(1)

Simplify x Xy X3
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6. Simplify

(@)

(b)

(f)

)
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8XyXx2

axaXxa

3XaXc

wX5Xe

2y Xy

3a X4c

Sw X 6w

2m? x 4m



Which of the following expressions is not equal to the others?

| 4q x 2y 8axy {2(&*4&) a x 8y

g 7 g(}y 7. zﬁ%

‘!-4

8.  Aaronistrying to simplify 3y Xy = }j

2. His answeris 4y

Explain his mistake.

9. A rectangle has length 5x and width 2y.

DX

Find an expression for the area of the rectangle.

5 X 2/]/
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Simplify YyXyXy

11.  Simplify SXmXp

(1)
12.  Simplify wo X w3
]
...... b e
(1)
13.  Simplify Sa X 3a X 2a
}0&3
(1)
14.  Simplify pXsX5
...... 7p5.....
(1)
Simplify 9Xc¢Xd X3
a7
(1)
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16.  Simplify 74¢ X 21d

| | o M
z 5 g % 1
Isla is simplifying vy + 2y X y v + l Y
Circle the correct answer. Zyt "'7
4y 3y? 2y* 2y* +y
Oro’ér of WWJ)TJ‘M
/}'lv/{'l‘p/"( o~ [aFW/ Jﬂ‘*’”\”
(1)
18.  Simplify
(@) m?> X m?
Ly
..... Ao
(1)
b) w? X wd
| 7
......... o
(1)
() 8k x 2k x k'
ALk
(1)
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@ —5y% %5y

e) 4am X m

M (—=2) X (—4ay) X (—2a)

(90 6ay X 3ay

A rectangle and square have the same area.
The rectangle has length 12x and width 3x

Find the length of each side of the square.

redngle 120 K 31 = 32
5 vue bt X b= D
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To find the contents of each empty box, multiply the two terms directly beneath
it.

Complete the multiplication pyramid.

(3)
Henry, Jack, Leon and Conor are trying to work out 4w? X 2w”>
Henry says the answer is 6w’ X
g 7
Jack says the answer is 8w’ v Y
Leon says the answer is 8w!0 *
3
Conor says the answer is 6w 1o
Tick a box to show who is correct.
Henry Leon
L/
Jack L1 Conor
(1)

© Corbettmaths 2023



Simplify 2y> x 3y?

Simplify 6¢%d X 4cd’>

24.  Simplify
- Y Xy

25, simplify 8a3c* X 2a’c

3
26.  Simplify 3 X 20y

_%,@{w S

B

5

0{ 103(-f
Xj;]l ol

41
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The rule for a sequence is that each term is found by multiplying the two
previous terms.

The first two terms are 2x and 3y.

2x 3y by

Find the next three terms.

27 X 303 é?(y
JJ X 612 - /4x7

Wg X lgy " mzzy’

28.  Simplify

(4cd3)2
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2y éxa 4
;
)

Write down an expression for the area of the shape.
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